A Christmas Tree for Trudel

= O \n O M O Z > rm O c 0 =
O = M = O - Z m - X0 I W -
O m M- O Z2 - = \»n O2m @ = O O

O O r O X0 - mrMrr = "N

o

Play this puzzle online at :

© thewordsearch.com

- O rmFr O Z2 m - m O O rr » =T

r

-1 OO O >» > O A 0 NV O 4 M X

[

- 2 T ULV m > N O m 0 O m H

O - -4 O =2 A m = +H T »n mo unm

H Z2 H Z2 O N rr>»PH-=>» O -

=

O X U I X» 2 0UMmownm=220 I =

m

A m I N 2 Fr 0 0 0 H H E P

c

o o m 4 n 22 rr-r -4 =2 =2 0n

o
=

T -H O XD O m>XX WM X0 H O m

N 4 O N »n o M 4 4 C O M m

-

POKER
GAMBLER
MINING CLAIM
TREE
RANCHER
CHRISTMAS
BUTTERSCOTCH
GIBSON
ORPHAN
SWINDLER
MAILORDERBRIDE
TRUDEL ANDERSON
LACE
DOG
PINE KNOT
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